

SOLVING EQUATIONS Solve the equation.

32. $(x - 7)^2 = 6$

35. $20 = 2(m + 5)^2$

38. $\frac{1}{2}(c - 8)^2 = 3$

33. $7(x - 3)^2 = 35$

36. $5(a - 2)^2 = 70$

39. $\frac{3}{2}(n + 1)^2 = 33$

34. $6(x + 4)^2 = 18$

37. $21 = 3(z + 14)^2$

40. $\frac{4}{3}(k - 6)^2 = 20$

SOLVING EQUATIONS Solve the equation.

32. $(x - 7)^2 = 6$

35. $20 = 2(m + 5)^2$

38. $\frac{1}{2}(c - 8)^2 = 3$

33. $7(x - 3)^2 = 35$

36. $5(a - 2)^2 = 70$

39. $\frac{3}{2}(n + 1)^2 = 33$

34. $6(x + 4)^2 = 18$

37. $21 = 3(z + 14)^2$

40. $\frac{4}{3}(k - 6)^2 = 20$

SOLVING EQUATIONS Solve the equation.

32. $(x - 7)^2 = 6$

35. $20 = 2(m + 5)^2$

38. $\frac{1}{2}(c - 8)^2 = 3$

33. $7(x - 3)^2 = 35$

36. $5(a - 2)^2 = 70$

39. $\frac{3}{2}(n + 1)^2 = 33$

34. $6(x + 4)^2 = 18$

37. $21 = 3(z + 14)^2$

40. $\frac{4}{3}(k - 6)^2 = 20$

SOLVING EQUATIONS Solve the equation.

32. $(x - 7)^2 = 6$

35. $20 = 2(m + 5)^2$

38. $\frac{1}{2}(c - 8)^2 = 3$

33. $7(x - 3)^2 = 35$

36. $5(a - 2)^2 = 70$

39. $\frac{3}{2}(n + 1)^2 = 33$

34. $6(x + 4)^2 = 18$

37. $21 = 3(z + 14)^2$

40. $\frac{4}{3}(k - 6)^2 = 20$

SOLVING EQUATIONS Solve the equation.

32. $(x - 7)^2 = 6$

35. $20 = 2(m + 5)^2$

38. $\frac{1}{2}(c - 8)^2 = 3$

33. $7(x - 3)^2 = 35$

36. $5(a - 2)^2 = 70$

39. $\frac{3}{2}(n + 1)^2 = 33$

34. $6(x + 4)^2 = 18$

37. $21 = 3(z + 14)^2$

40. $\frac{4}{3}(k - 6)^2 = 20$